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The following Table-1 shows the readership of Hindi (H) and English (E) magazines (in lakh) of
four different categories, namely, General, Sports, Film, and Business from the year 2020 to 2023
and Table-2 shows the number of Hindi (H) and English (E) magazine of same four categories
published during the same period. No magazine was discontinued during the above mentioned

period. Based on the data in the tables, answer the questions that follows:

Table-1: Categorv-wise details of Readership of Magazines (in Lakh),

Number of Magazine Readers (in lakh) in the vear

Category 2020 2021 2022 2023
E H E H E H E H
General | 2.0 | 24 | 26 32 40 | 36 | 50| 40
Sports 08|04 12 0.8 20114 24| 16
Film 12 ] 16 | 19 25 20 ) 30| 24| 36
Business | 0.6 | 03 | 08 0.32 12 1 05| 16 | 1.0

Table-2: Category-wise Details of Publication of Magazines
Number of Magazines Published in the Year
Category 2020 2021 2022 2023
E H E H E H E H
General | 24 | 20 | 30 | 28 | 34 | 30 | 38 | 32
Sports 6 4 10 ] 6 14 | B 16 | 12
Film 6 g 0] 12110] 14 ) 12] 16
Busniess | 8 4 10 4] 12 8§ 14 1 16

Sub questions

Question Number : 1 Question Id : 3421239962 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What is the approximate average readership per magazine in 20227

1. 13615

]

. 14600

3. 12805

4. 15715

Options :

1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 3421239963 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
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The difference between the number of magazines published in 2022 and 2020 is.

L.

[

4.

0

A

h
-2

h
L=y}

Options :

1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 3421239964 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

From the year 2020 to 2021, if P is the difference between the number of Hindi magazines and Q
1s the difference between the number of English magazines published then P : Q is.

I

k2

4.

2

-2

Options :

1.1
2.2
3.3
4.4

: 3

[

Question Number : 4 Question Id : 3421239965 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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In the year 2021, as against the year 2020, the number of readers per magazine declined for the
category of magazine.

. General

(]

. Sports
3. Business

4. Film

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 3421239966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Considering only the English sports magazines, the ratio between the number of readers in 2020
to the number of readers during 2020 to 2023 is.

l:2:i

B
fa—
ws]

T
(g

s 15

Aol
Options :
1.1
2.2
3.3
4.4

Question Id : 3421239961 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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difetdt 1 |, 98 2020 Y 2023 dd G, W, (hed 9 AR & IR 47 9ot 7 i8St (1) 3R
S (B) URASHISH & UIadh| &f @1 (dd H) Sl 75 g 3R difdd 2 § 3491 3@y &

GRM 3l 9R Aol & gaiiRd &< (1) 3R SEiel (8) ufFdmrsi & W g2l 18 gl

difdimT3dl H Uad S1el & ATYRW, 3 & U & IR Sl

difcTant — 1 UBieTsil & uras| &l Yullar fqaur (o o)
T4 H gi@Tel & Ued! & 9 (@nE 1)
goft | 2020 2021 2022 2023
E|H|E|H|E|H|E|H
aFa | 20|24 26| 32 |40]36] 50|40
od |08 |o04]12] 08 [20]14]|24]16
fper |12 16|19 25 [20] 3024356
R |06 |03 os|os32|12]05]16]1.0

difcre — 2 T & UHTH &1 4R e
LR CAIEGR ECARI AR e

goft | 2020 | 2021 | 2022 | 2023
E|lg|eE|u|E|B|E]|H
oA |24 | 20 (30 |28 |34 |30 58] 32
Td | 6|4 |1w0]6|1a]s8]16]12
o | 6|8 |1w0|12|10]14)12]16
amur | 8|4 |1w0]6 12|88 |14]16

Sub questions

Question Number : 1 Question Id : 3421239962 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

ay 2022 H Ufd GRS TTHIT 3(19d UTd S e fdhaHi g2

1. 13615

(]

. 14600

3. 12805

4. 15715

Options :
1.1
2.2
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3.3
4.4

Question Number : 2 Question Id : 3421239963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2022 3R Y 2020 H UGN BT &1 TS & &g &1 2fd? fhd1 g2

1. 50

Lh

3]
N
=

¥ ¥]
h
[R]

4.

A
L=y}

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 3421239964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2020 ¥ 2021 dP Al USRI fgal UHAS13M &I WAl o dfld 1 3R P g IR Q 3iUsl &
U UGBTI Bl W b dld BT fRg A P: Qg

L3
2.1.:2
3.1: 1
4.2:1

Options :

1.1

2.2

3.3

4.4

Question Number : 4 Question Id : 3421239965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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%ﬁzn:ﬂﬁ@aﬂﬁaﬁzﬁzlﬁﬁ?ﬁﬁ%%ﬂﬂﬂﬁﬁ%ﬁﬂﬁﬁwﬁﬁw%

1. HIHY
2. 9d

3. 4R
4. fther

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 3421239966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3RS Wl UlH13Ml &b ATH H, a8 2020 H UTdd 9T 3R a8 2020 9 2023 & did &I UI6H
e & ol BT 3uUrd fab =1 g2

L2 9

[
fa—
oo

15

tad
(g

4.
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123394
Question Shuffling Allowed : Yes

I
h

Question Number : 6 Question Id : 3421239967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which component of Baddeley's basic working memory model is involved in the task of pressing
keys on a keypad in a clockwise pattern?

1. Visuospatial sketchpad
2. Bounded rationality
3. Phonological loop

4. Metacognition
Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 3421239967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

d3d & HYARYd HEAHIYD RHeid b1 SIH-G ued duilucd (bl Us) R Hiowl (1) Pl
claoad (B dIgs) Yo H ga- & S H XA g2

L. fasfairefRme whats

[

2. UREg Jfsdriad

3. WS qu

4. ATGFE (HeTHIHIRH)

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 3421239968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the Swayamprabha channels are dedicated to higher education in various disciplines?

A. Channel 01
B. Channel 13
C. Channel 18
D. Channel 27
E. Channel 38

Choose the correct answer from the options given below:

l.A. D and E only

b2

. C and E only
3.A.Band C only

4. B, C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 3421239968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad § 9 $1H U WUy < 3y flawal § 3= [2ren & fou gafid g2

A. 994 01
B. d9d 13
C.d9d 18
D. 99d 27
E. d-d 38

1 feu U fas ettt # 9 F1 IR &1 99 DI
1.had A, D 3R E
2. Hdd C ARE
3. ®Hdd A, B AR C
4. HddA B, C.D

Options :
1.1
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8/29/24, 9:53 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
2.2
3.3
4.4

Question Number : 8 Question Id : 3421239969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the primary goals of PM e-Vidya?

A. To provide free text-books to all students

B. To facilitate multi mode access to digital/online teaching-learning content
C. To offer scholarships to topper students

D. To facilitate the uniqueness with its comprehensive accessibility for all

E. To benefit learners in remote areas where stable internet is not available

Choose the correct answer from the options given below:

1. A, CandE only
2. A.Dand E only
3.B.D and E only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 3421239969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FgfeiRad 9 9 &Y U1.uH 3. {9 & Uidiis deg g2
A. Gt faeniéiat &1 f:30eh Ured Qe UeH BTl

B. fSfSTed/siars fremr - 3iferm fawgayg

ddh Sgide T & Wil § Ygrd gl

C. 3= 3 T faeqfdal &t SEghkaat &1l
D. Yl & et g Il & 3HRKEUA o Ggrid gl
E. 39 X% &1 | i disi ol oy UgdHI, Sigi fRR ge3-e Iudsy gl g

i fu U fad el § 9 @81 IR &l 994 Diflu;

1. Had A, C R E

2. BAd A, D JUTE

3. $9d B. D 3R E

4. HadC 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 3421239970 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
Tool/ Softwares Applications
& | Photason i To create Pre-and-post-session polls to gauge student learning from each
sess10n
B. |Mindmeister II. | To create mstant animated videos
C. | Github III. | To understand and make connections between concepts, ideas and information
D. | Mentimeter IV. | To store, share, and work together with others to write code

Choose the correct answer from the options given below:

1. A-IV, B-11, C-1, D-III

2. A-II1, B-11, C-1V, D-1

3. A-IL B-IIL C-1IV, D-1

4. A-I, B-IV, C-1II, D-II

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Options :
1.1
2.2
3.3
4.4
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Question Number : 9 Question Id : 3421239970 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

1 11
il (o)
BH & Udd T3 o HIETH & HIUA g 93 4d Ud G-l HdaH wifud
A, |wrerTE L g
A eHReR I |TenTd Heild (@ e ) fafsgl agr &
filced 11 | uR@eaT, fadRi Ud Ya-1 & 5% G4ioH B Ud G
D. |HdHiex IV. | B8 ferg- gq o1 o H1Y Hae S99, gl &1, B Bl
1 feu U fadedl O 9 WEt SR &1 994 DIl

1. A-IV, B-11, C-1, D-III

2. A-III, B-11, C-1V, D-1

3. A-Il, B-IIIL, C-IV, D-1

4. A-1, B-IV, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 3421239971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The contents of Swayamprabha Chhanel-16 with the theme of “*Skill and Vocational Education”
are provided by:-

1. CEC, Delhi

(]

. IGNOU, Delhi
3. IIT, Bombay

4. IIT, Kanpur

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 3421239971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WYY I - 16 I [a9ga] fordanT 9o faw (10 <dI<rd 3R ey fer g,
FafIRad gRI1 STy HRaml Sl 6:

1. s ot feedt

2. 39, feeedt

3. 30Ty, 3175 <, i
4. 33 313 1, HHYR

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 3421239972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is the most appropriate for measuring the strength and direction of
assoclation between two interval/ratio variables?

l. Spearman's rho
2. Pearson'sr
3. Phi

4. Eta

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 3421239972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&l SARTTl / U =R & AL HAISH Pl €gdl Ud G2 & A g FHafarad 3 9 o
quicl SUged 62

1. TOTRAT BB (rho)

2. UIRTH & r (3R)

3. Thlg
4.3l

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 3421239973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following methods of graphical representation of data would be useful for showing
trends?

1. Bar charts
2. Line charts
3. Box plants

4. Pie charts

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 3421239973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gqfcal &l fea & feu fAafafad o 9 & 91 Srer sl siieidia Fegur ugfd 3uani gifle
1. IR A1y
2. TR AICH
3. dIdg A1dy
4. T1g A1

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 3421239974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the main preoccupations of qualitative researches.

A. Generalization

B. Description

C. Emphasis on context
D. Flexibility

Choose the correct answer from the options given below:

l.A. B and C only

2

.B, C and D only
3.A.Band D only

4. A. Cand D only
Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 3421239974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS 2l b1 G AFHUA &I UgdH S

A HHAHI0

B. fdavm

c. dgH W 939 SR
D. ddida-

- feu U fasett # ¥ F81 IR &1 99 DI
1.BdA A, B3R C

HddAB. C3ARD

3.Hdd A, B 3R D

4. HdAA, C3ARD

Options :
1.1
2.2
3.3

t-2
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4.4

Question Number : 14 Question Id : 3421239975 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Covariance L.e Cov (X.Y) and standard deviations of different datasets are given. Estimate the

g28.digialm.com/CAE/viewHtmIPDFAction.action

correlation coefficients and arrange in increasing order

Choose the correct answer from the options given below:

1.A;B,C,D

2.B,C,D,A

3 EDAB

4. D. A B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 3421239975 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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YEURY (BIART) 311d Cov (X.Y) IR fafHe STeriel & AMS faaed (Ess Sfagzm)
fGUTU S | YgUWERIUD] BT 3fibad B3 3R igTd HH § |

A. C(}v(
B. Cﬂv(
C. Cov(X,

(X,

D. Cov

1< feu MU fadetl # 9§81 IR D1 9 BT
1. A, B,
2.B,C,
3CT;

4.D,A,

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 3421239976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

32, o, =8,0,=7
Y)= x y
) 36 o _lh,c:r_ =5

=33, oy =1, 0,
) 3‘) 0y =6,0,=

C.D

D.A

A B

B.C

Match List I with List I1

List I List IT
Total Sum Squares (TSS) and Residual Sum of Sequences (RSS)|R? of Regression Model
A R85 =25 T88 =60 I 1046
B |RS5=35T88=73 II. 057
C. |[R55=30.T85=70 IIT. | 0.533
D. |R55 =40 T55 =73 IV. | 0.58

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. AL

B-III, C-IV, D-1

3. A-IIT, B-IV, C-1, D-II

4. A-IV, B-111, C-II, D-1

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 3421239976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY

g28.digialm.com/CAE/viewHtmIPDFAction.action

T
@ &1 Fa TR (€ TH TH) 3R a9 BT a1y 0 (31 TH TH)

A |RS5=25TS55=60 I |046
B. |[RS5=35Ts5=T3 I |0.57
C. |R55=30.T55=70 III. | 0.53
D. |RS5=40,T55=T3 IV. | 0.58

A feu U fasedl § U 9gt 3 &1 994 DIoIU:

1. A-L, B-IL C-III, D-IV

2. A-1l, B-1II, C-1V, D-1

3. A-IIL B-IV, C-1, D-II

4. A-IV, B-11I, C-II, D-I

Options :

1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 3421239977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following has been criticized for “*dumbing down’ the news media?

|. Weather broadcasts

t2

. Commercial brochures

3. Magazines

4. Television

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 16 Question Id : 3421239977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafaiad 9 ¥ fhad! YR Hifed & Ak 991 & 96y H &R IR (ST 3169 &
feTQ ST Dt Sl g2

1. HIGH YR

G| CACCNILGAIY
3. 9P

4. TS

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 3421239978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Today mass media exercise enormous

l. Corporate power

t-2

. Ethical might
3. Economic influence

4. Trade unlonism
Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 3421239978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T Hifsar 940 1 {b g DT ggd UahT dd g2
1. PIRURE fe

AifdRS 2l

3. M =fdd

4. YD Afad

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 18 Question Id : 3421239979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the feature of broadecast (first media) age?

A. Decentred

B. One-way communication

C. Many-way communication
D. Pre-disposed to state control
E. An instrument of inequality

Choose the correct answer from the options given below:
1. A B, Conly
2.B,D, E only
3.C.D.E only

4. A, C.Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 3421239979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad 9 9 o I w9Rr (Uyd HiiSan) g ol fa2edm g

A fadbl<sa

B. Uh ] N0

C. gAYl YN

D. Ud - UGUI Y I Bl (g0
E. ST & Uh HIeH

- feu U faded! ¥ FpT IR B 90 HIST:
1.Hdd A, B, C
2. $HddB. D, E
3.$HddC. D, E
4. BT A C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 3421239980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the emergence of the following concepts.

A. Virtual Communities

B. Cyber Culture

C. Being Digital

D. Tele Computer

E. Interactive Media Culture

Choose the correct answer from the options given below:
1.A,B,C,D,E
2B CDAE
3 DACEB

4.C,D.E.A,B

Options :
1.1
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2.2
3.3
4.4

Question Number : 19 Question Id : 3421239980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfeRad sraurRuIel & ey & Ul 2P Dl UgdH DI

A. STHTH 9geH
B. gk T (d

c. feforea giAn

D. el SR

E. IRER {111 - fhardd Hifsar 9pid

HId feu 7t [dsedl § ¥ gaT 3R &1 99 SISl

Ay B DV E

[a—

f-2

B, C.,D,AE

L

XA CFE B

4.C,D,E,A,B
Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 3421239981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Author Concept
Manuel Castells I |Electronic Nomads
Trevor Barr I1. | Post-Information age

Nicolas Negroponte | III. | Global Village
Marshall McLuhan | IV. | Interactive Media Culture

ola|w|e

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 3421239981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

B | =
(HIUTYTM)
T agd | 1 |Soeeie gaana
SR ER 1L | SR - g g
@i Fud= | o |afy® g
AEid Ohded | IV | o= - fparas Hifea gl

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

b2

. A-II, B-III, C-IV, D-1
3. A-III, B-IV, C-1, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 3421239982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the missing term in the series given below. 2, 12, 36. 7. 150

1. 80

t-2

2
3. 100

4. 86
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 3421239982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 25/198



8/29/24, 9:53 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Al QU U 907 o6 © ot T DT Udl ¢ 2, 12, 36, 2. 150

1. 80

2

T2
3. 100

4. 86

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 3421239983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A certain amount of money deposited in a bank becomes 1008 in 2 years and Z 1164 in 3%

years. Find the amount deposited in the bank and the rate of interest per annum.

1. %700, 12%

B

. X800, 13%
3. €750, 13%

4. 850, 13.5%
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 3421239983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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dp U SHI 1 18 Bis AR E au 3. lODS:"—QHS%H‘ﬁﬁ? 1164/- B STl g1 §p T o
M2 3R 1t &aTS] &3 DI Il Tl |

1.%. 700, 12%

2

. 800, 13%

L8]

.. 750, 13%

4.%. 850, 13.5%

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 3421239984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If *CAKE’ is coded as 20 and ‘FAIL’ is coded as 28 then how ‘FIRST’ shall be coded?

b
-1
[

4.40
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 3421239984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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G CAKE &I 20 3R FAIL ®1 28 HIS [hdl AT & dl FIRST &1 &1 HIS fhdl SIa?

1.35

-
=]
-

4. 40

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 3421239985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Forty five (45) men can do a job in 16 days. Six days after they started working, 30 more men
joined them. How many days will they now take to complete the remaining work?

1. 5— days

b2 | —

]

. 7 days
3. 5 days

4. 6 days

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 3421239985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl (45) AldT U BRI Dl 16 el H IR Gavd g1 37% SR YR I3 & 36 a1 & 916
I B H 30 Afdd 3R M Bl U1 3(d d HeTd AN B bl R A H fdbd e oo

sifeq
2

[—

7feA
3.5fc¢d
4.6fcH

Options :
1.1
2.2
3.3
4.4

b2

Question Number : 25 Question Id : 3421239986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List 1

List I List IT
Expression Value
0.1x5.5x55.5x0.5 I. 10.00152625

0.01x0.55x5.55x0.05| II. |0.0152625
0.1x0.55x55.5x0.005 | IIL. | 0.152623

0.01x5.5x5.55x0.5 IV. 1152625

ola|w|s

Choose the correct answer from the options given below:
1. A-1, B-II, C-III, D-IV
2. A-IIL, B-IIL C-IV, D-I
3. A-IV. B-1. C-11. D-III

4. A-1V, B-11, C-111, D-1

Options :
1.1
2.2
3.3
4.4
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Question Number : 25 Question Id : 3421239986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y G 11 D1 THAH Pifore
g1 T 1
(®)

0.00152623
0.01x0.55x5.35x0.05| II. |0.0132625

[
=S
]
et
"

Lby
LA
W

LA
LA
LA
bl

[
LA
[

0.1x0.35x555x0.005 | IIT. | 0.152625

262

ofn|w

0.01x5.5x5.55x0.5 v |1

LA
LA

A fGU U A el § 4 I8t IR 1 999 DI,

l. A-L B-IL, C-III, D-IV

]

. A-IIL, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-IV, B-11, C-III, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 3421239987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

* Since all medical practitioners are competent and no competent people are underpaid. Therefore
no medical practitioners are underpaid.” Which fallacy is committed in the above argument?

1. Hasty Generalisation
2. Affirming the consequent
3. Begging the question

4. Undistributed muddle

Options :
1.1
2.2
3.3
4.4
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Question Number : 26 Question Id : 3421239987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i Slael U= ¥ T i ofdd G&m g 3R Bl ol Hem ofdd SeuddiHd -Ig! g, SHiciy
Slaed U Y 31 Bis i Afdd 2ed ddf-id 8! g 1" Sdd db H BI--91 gfdd.-a g2

1. =i gE=fiau
2. Hadid fau

3. TSI GIY
4. 3 gd &N

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 3421239988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement ** All Plants are Carnivorous”, is given as false which of the following statements
can be inferred to be true:

A. Some non-plants are non- carnivorous
B. No Plants are carnivorous

C. Some plants are carnivorous

D. Some plants are not carnivorous

Choose the correct answer from the options given below:

1. C only
2. B and D only
3.D only

4. A, B, C, D only

Options :
1.1
2.2
3.3
4.4
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Question Number : 27 Question Id : 3421239988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe ~qt gl giaHel 8id § U I 3R |1 SIdl § o (MafeRdd J U g $y &l 9™
AT S 9dhdl g2

A. T8 IR TRAYel gid B
B. Big 4t Uley AigHeh Tl e g
C. TS U1 A4 81 T
D. $3 UIY ARqHel T8 gid B
1 feu T fadedl O 9 F8T 3R D1 99 DifoIT:
. ®ad C

Had B 3R D
&Had D
4. Had A, B.C,D

Options :
1.1
2.2
3.3
4.4

[

[N

Question Number : 28 Question Id : 3421239989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are Contrary?

A. All cows are herbivores

B. No cows are herbivores

C. Some cows are herbivores

D. Some cows are not herbivores

Choose the cerrect answer from the options given below:

1. Aand C only

[

. A and B only
3. C and D only

4. A and D only
Options :
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1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 3421239989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafead 8§ 9 oH-01 ufoitaal fawia 2

A, T4 T 2 yel gidl B

B. g Hi g TMHHaf TgT BIdl |
C. @ T AHYef gidl ¢
D. §& T A Hel =g gicll|

- feu U faseut # ¥ §87T IR &1 99 DI
1. Hdd A 3R C

had A 3R B

3.%dd C 3R D

4. HadARD

Options :
1.1
2.2
3.3
4.4

I

Question Number : 29 Question Id : 3421239990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following identify the statements that are logically equivalent.

A. No squares are circles

B. Some squares are not circles

C. Some non-circles are not non-squares
D. No circles are squares

Choose the correct answer from the options given below:

1. B and D only

2

.B and C only
3.A.Band C only

4. A. Cand D only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 3421239990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 34wyl &1 ugdH Sifore ol difdbs 2P § g9daa g |

A. DI Hl T, 3T T Bl €|
B. $ 97, 91 el gld &

C. $® R-gd, R TIZEE!
D. ®is Yl gd 971 481 gId S|

- feu U fasett # ¥ F81 IR &1 99 DI
1. $dd B 3R D

HAd B 3R C

3. HAd A, B3R C

4. HdAA, C3ARD

Options :
1.1
2.2
3.3

t-2
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4.4

Question Number : 30 Question Id : 3421239991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are included in the inferential process for inferring fire from
the perception of smoke as per Nyaya Philosophy.

A. That hill has fire(Pratijis)

B. Since it has smoke (Hetu)

C. Wherever there is fire, there is smoke, eg kitchen (Udaharana)
D. That hill which is smokey, must have fire too (Upanaya)

E. Therefore the hill has fire (Nigamana)

Choose the correct answer from the options given below:

l.A.Band C only
2. A.B.D and E only
3.C.Dand E only

4. A and B only
Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 3421239991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Y a2 & TR YU & UAEEIY T I DT 312 T & fold srgan-a uichan o fFHafafad
EREREICARIERICRIE IR

A. TGTS1 IR 31T § (Ul arem)

BHEIGTWHYMNgE®)

c. STgt el *f ST giclt § agT Yaif gldT ¢ Wi foh 1S =R H (3T
D. 95 UgTe! Sl Yif gad g, 3TH 3@ 31T Hi gl =g (3u)

E. 29f¢IU Ugrsl ur 301 g (Fmee)

- feu e faseut # ¥ #T IR &1 99 DI
1.Pdd A, B3R C
2. $hdd A, B,D 3R E
3.$dd C, D 3ARE
4. DHdd A 3R B

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 3421239992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger, short for Keystroke logger, is type of cyber threat. Keyloggers are a form of

1. Worm

2

. Trojan Horse
3. Virus

4. Spyware

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 3421239992 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

DI-dR, Sl HI-Elh-dlTR &I & $U g, Udh UbR &I Y3aR 49l g | dl- dR Hg d
EREaRaE I

1.9
2. TS g

3. 915
4. WGAR

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 3421239993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronyms and their expansion is incorrectly matched?

1. ROM - Read Only Memory

f-2

. WAN - Wide Area Network
3. OMR - Optical Mark Reader

4. USB - Universal Secure Bus
Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 3421239993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR 2R 38 fGEdR &1 9 H U DI 11 i gHferd Tel g
3R 31 T - IS 3l O

. §&g UUA - 9133 URAT4cadh
I TH 3R - AP dhd A1 e

4.4 U o - g9y d @R 99

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 33 Question Id : 3421239994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In cyber world, Black Hat Hackers are individuals with extra-ordinary computing skills who use
these skills with malicious intent. In this context, identify the correct order for a successful black
hat operation.

A. Scanning

B. Reconnaissance

C. Gaining Access

D. Covering Tracks

E. Maintaining Access

Choose the correct answer from the options given below:

LA By S E D

t-2

.B,AC.E D

3.C.D.BAE

4.D,C,AE, B

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 3421239994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ISR g1 H, &I §¢ oh Y SR TR DI didd Hfdd 8ld g o1l 39 DI bl
fTgogol U Y UAN Hd g1 29 e § 9hd siid g¢ Udla- & gl 3(hd &1 Ugd
” 1:

A Th{HT
B. 2Ig ol
C. HTH I d ST
D. UG [l &l UM
E. 3T d41U 3G

A fou U faeedl § 9 ¥8T 3R &1 994 DI

1L.ABCED

2.B,.A,CED
36D BAE

4.D,C. A E. B

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 3421239995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following software titles are examples of system software?

A. Ubuntu
B. Google Docs
C. MS-Office 365
D. Android
E. Chrome OS
Choose the correct answer from the options given below:
1. A.B,DandE only
2. B and C only
3. A.Dand E only

4. C.,D and E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 3421239995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 & 9 19 T QrieamR e YoTelt SiiediR & 35180 30

A. 397

RIUG G

UH UY Y 365

TS

HH AT

HId feu U {9 edl § 9 T8t IR &1 994 DI
. ®dd A.B.D 3R E

hadB 3R ¢

3. Hdd A. D IR E

4 HAdd C.D3RE

Options :
1.1
2.2
3.3
4.4

monWw

I~

Question Number : 35 Question Id : 3421239996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Unit of Data Capacity) (Approximate Size)
A | Kilobyte I | 8 billion bits
B. | Gigabyte I1. | 8 million bits
C. | Terabyte III. | 8 thousands bits
D |Megabyte IV | 8 trillion bits

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-IV, D-II
2. A-IV, B-II, C-1, D-IIT
3. AL B-TV, C-1. D-IT

4. A-1, B-III, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 3421239996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

@aag;ﬁqﬁa :alf_tnléf]rla

A |fFdEEe I |8 faferg= focw
B. |7imETge 1. |3 Tafer faca
C. |EEe 11 |8 59K facd

D. |HTEEe 1v. (g feferae faey

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-IIL B-I C-IV, D-II
2. A-IV, B-IL, C-1, D-III
3. AL B-IV, C-I, D-II

4. A-I, B-1II, C-IL, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 3421239997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Fuel Type) (Example)
Non fuel I. |Biodiesel
Alternative fuel II. |Hydrogen fuel cell

Non traditional fossil fuel | III. | Wind power

ola|w|e

Emerging fuel IV | Compressed Natural Gas (CNG)

Choose the correct answer from the options given below:
1. A-IL, B-1V, C-1, D-III
2. A-IV, B-11, C-I11, D-I
3. A-I, B-III, C-IV, D-II

4. A-I11, B-1, C-1V, D-I1

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 3421239997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

GELR GEipt
EE FIPR) (STER
A |TR-ZeH 1 |&rar- Sed
B. |d®icud 394 11 |ZEeed ud Ia
C. |"R - IREN® Siared 3¢H | 1L |ga 9ifed
D |SWRaiged v | gdifsa wefas i @ wsh)

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-IL, B-IV, C-1, D-III

b2

-A-TV, B-1I, C-IIT, D-1
3. A-lI, B-III, C-1V, D-II

4. A-III, B-1, C-IV, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 3421239998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not caused due to noise pollution?

1. Bronchitis

t-2

. Cardiovascular diseases
3. High Blood Pressure

4, Insomnia
Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 3421239998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafead & § S @i U & SR 30 el gidT 8
YT (shIgicd)

. & dTfgdT SR (@IfSaatger fSsle)

3. 3 G

4. SHEETIAT

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 38 Question Id : 3421239999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Waste-to-Energy incinerations?

A. It serves dual purpose of disposing municipal solid waste and producing energy
B. It produces fly ash

C. It produces bottom ash

D. It generates a high level toxic air pollutant-dioxin

E. It produces toxic metals such as Lead and Mercury

Choose the correct answer from the options given below:

1. A, C.DandE only
2. A.B.D and E only
3. B and C only

4. A, B, C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 3421239999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafeRad 7 ¥ S 9 BT 3URIP -H-Foll HEFHIBI0 & aR H Tel 62
A. %ﬂﬁqﬁﬁwmaﬂﬁ]@%mﬁﬁ?\mﬁ? Jd1e & Tlg WaIS &1 b1 gidl
|
B. 34 Ulls U &1 Sl glal g |
C. 39 delid {8 BT IA1G gidl ¢
D. 39H 3= WY fa¥ell 91 - UgNd - SHANdE- 39 gidl ¢
E. 294 201201 3R URT Sl fquelt Yrqu S gidl g1

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Had A, C.D 3R E
2. ®dd A, B, D3R E

3. Had B AR C

4. Hdd A.B.C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212310000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following cause indirect Green House Warming?

A.CH,
B.NO
C.NO,
D.N,0
E.CO

Choose the correct answer from the options given below:

1. A. B and C only

b2

.Aand D only
3.B.Dand E only

4. B, C and E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212310000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FfIRad 9 S e Ui- 8139 i 39 $id o2

MmO nNnw »

1 fqu Y fdsedl § 9 Fg SR &1 99 HifoT:
1.Hdd A, B, C

HIdA SR D

3. ®dd B, D 3R E

4. HIAB, C 3R E

Options :
1.1
2.2
3.3
4.4

]

Question Number : 40 Question Id : 34212310001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

So far, which of the following countries has not ratified the Convention on Biological Diversity?

1. India

2. China

3. Russia

4. United States of America

Options :
1.1
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2.2
3.3
4.4

Question Number : 40 Question Id : 34212310001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frofafad & 9 fea <23 Sifae fRfgud w Afimg @<52m) 31 29 9@ A Td 31

1. HIRd
2. dF
3.y

4, KT T SHRPT

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212310002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The names of great scholars like Raghunath, Raghunandan and Sri Chaitanya were associated
with which of the following ancient university?

1. Sridhanya Katak
2. Vikramshila
3. Sakya

4. Odantapuri

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212310002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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XYY, Y- SR A A0 S U fagrl & - (99 (6 Ui fayfaemeg 9 9s €2

1. NYg Heh
faARrEr

[~

3. MY

Options :
1.1
2.2

3.3
4.4

Question Number : 42 Question Id : 34212310003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The professional organisation that opposed the inclusion of its educational discipline under
NCHER was.

1. Education Council of India
2. Dental Council of India
3. Architectural Council of India

4. Bar Council of India

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212310003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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dg HqUID TEH, o+ 3(0H Aferd favyg &1 U4 1 0.3, 3R. & fdiid Gifeld & &l
faRiey fopa or:

- HRG e uikug
HRA &d uRug
- YR ar&] uRkeg
4. YRAJG §R URug

Options :
1.1
2.2
3.3
4.4

—

I

L

Question Number : 43 Question Id : 34212310004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The recommendations of the National Council of Teachers Education (1976) were:

A. Limiting the number of teacher education colleges

B. Universities should recognise short term courses for in-service education for teachers
C. Avoidance of correspondence courses for in-service teachers

D. Use of technological aids like television, films and others

E. Formulation of a network of extension services for in-service teachers

Choose the correct answer from the options given below:
1. A B, Conly
2.B,C,Donly
3.C.D.E only

4.B,D.E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212310004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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BT R1e0 e TRES (1976) DI ST It

A. TR fRren-wgTideeal &1 Uvedl ol ifHd BT

B. fayfa=reral gRT Uard el &l f21e & folu srcudmiidaes urddgdl &l Al < SIHl
difgu]

C. YaRd 1 & folt TAER ursd<dl ° URgR

D. Taiiido, flhed! 3R =1 UY Ui 1 Ygidd IUHUll &l U

E. YaRd [2&&] & foru faadR garel & <edd &1 (a0 S0

- feu e faseut # ¥ #T IR &1 99 DI
1.®Hdd A, B, C
2. $HddB.C.D
3. $HddC. D, E
4. HddB, D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212310005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 2020, recommended certain verticals Under Higher Education
Commission of India. They are

A. NHERC (National Higher Education Regulatory Council)
B. NAC (National Accreditation Council

C. HEGC (Higher Education Grants Council)

D. GEC (General Education Council)

E. OLC (Open Learning Council)

Choose the correct answer from the options given below:

1. A.D, E only
2. A.B.C,Donly
3.B.C.D, E only

4. A.B.C.E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212310005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RIET 218 A1, 2020 = YR 37 &M SR & Sl & STHI B RN DI 14 T:

A. T.0E 5. 3R Ipg 3= Riar fafamd uRve)
B. TH.UY. (I¥19 Uarg- URug)

C. TA.3Si.4L. (3= TR1e 3MeH uRkyg)

D. Sl 3. (A & aRkee)

E. 3.0l (Had AT uRug)

1d fGu U f[ddh el § ¥ F8T 3R &1 98- SIS
1.hdd A, D, E

2. Hdd A, B.C,D

3. ®HddB.C.D.E

4. Hdd A, B.C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212310006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Proponent Initiative

Lord Dalhousie| 1. | Support to oriental education

Annie Besant II. | Technical education

Lord Curzan ITII. | Moral education

ola|w|e

Lord Auckland | IV |Reform and control of higher education

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212310006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

=] =

oS Sagrel | 1 |wres fan &1 g e

o fad=e il SGEiGARE]

dle o L. |Afae® faren

dis dieds |1V | 3= fan & gur 3R FEm

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-1l, B-III, C-1V, D-1
3. A-III, B-IV, C-1, D-II

4. A-IV, B-1, C-II, D-III

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123395
Question Shuffling Allowed : No

Question Id : 34212310007 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 54/198



8/29/24, 9:53 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Read the passage carefully and answer the questions that follow:

Anthropologists have questioned universal explanations of war. Some hold out the hope that war.
like slavery, can be erased by wise collective decision-making. But warfare is too diverse and
historically widespread to be cured by simple remedies. Economic motives have always existed.
A fight for salt or metals, gold and treasure, enslaved labour or access to trade routes, or oil and
other resources has marked many of the world’s violent conflicts. But ideological and religious
confrontations have also driven war. Hubristic warfare from Alexander to Napolean to Hitler was
meant to establish dominion. The rise of Chinese power has provoked questions on whether
potential conflict with US will descend into war. The search for security can be found in every
warlike episode. as frontiers feel fragile. Is war on the decline, with new forms of settling
conflict, cyber-attacks, and so on? The wars of this very century belie that hope. An ecological
crisis, resource stresses and clashes of beliefs are only too visible in the emerging international
order. And so, the future of war might not look very different from its past.

Sub questions

Question Number : 46 Question Id : 34212310008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What do some anthropologists think and hope about war?

1. War will continue forever

]

. War will keep on evolvig taking a new form
3. War can be eradicated by wise collective decision making

4. War will happen more frequently

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212310009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the text. why it is difficult to eliminate war from the world ?

1. Because, it is too diverse and historically widespread

]

. Because it is not difficult to understand people and society
3. Because of the modern technology

4. Because of the rich people
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Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212310010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What all economic motives have historically driven war?

1. Only gold and treasure

-]

2. Only salt and metals
3. Only trade routes

4. Various resources including salt, metals, gold, treasure enslaved labour, trade routs and oil

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212310011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following terms has been used to describe wars meant to establish dominion by
leaders like Alexander Napoleon and Hitler?

1. Resource Wars
2. Defensive Wars
3. Hubristic Warfare

4. Revolutionary Wars

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212310012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Common element that is found in every warlike episode mentioned in the text is:

1. Technological advancement

t2

. Economic upliftment
3. Search for security

4. Ecological balance

Options :
1.1
2.2
3.3
4.4

Question Id : 34212310007 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

TR ®T AIEUTHIYE® Ug B A1 [T el & 3w i

AHafaIal 9 g 1 GrdUIifs IR R Y @l ¢ $F dll &l Yad 3= ¢ fh
fadmyul Ufed (MU gRI g T YHTGHT AW B ol Ybdl ¢ oIl GRYT & AT J g3
o7 I¥d g B! fRufd gd-1 fafqudnTa ¢k Uiagiie ¥ 9 ga-l s g fd 9yRo 3umal
U oo YHd A8 g |

nfie Ie=T gHEN f3emM I8 €1 79 T uIgait, T 3R WeH & fau ders o 4fis! &
QT &I11 41 dc 3R 19T AFT 41 daf a1 3 HH1e! dob Ugd &1 fay & dgd 9
feU® gal & SR a4 g1 W ddilkd 3R Uifis GHiadl 4 g @l ARG fdar gl
e I Aulfergd ddb SR AUlfergd d fgeek dd gdhal WY dg UYd RIIfUd 3 & feu 4|
i< @ Afdd § gi< 814 U I U 34 g3 ¢ [ 1 Ggdd I & 41y fadie < d uRafdd
1 ST | Uich JuHTH Yol § YRafl & ford darer ¢l o gdhddl g | i diid & @
Pl HUGIR TEYY IR I ¢ | 1 ZAS! & GHIH & U 30, WIgaR - g 1S & PRI I
BIEH ¢ 24 el H IS U Gl 3 39 3= DI AT Fifdd a7 uiRiyfasig dae,
el IR GeTd 3R T a4l | Thvid g1 SHRCT SFRIP vyl H IHRd! o 3l
g1 3R 3ufe g &1 Hidw, 30& odid U i i 98T ToR |

Sub questions

Question Number : 46 Question Id : 34212310008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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$ AF4 a9, 3 & IR & 71 Tiad § 3R M= &Hd 8
1. 9g SHRI SR X |
2. 4G 91 Y dhR Udbe gid g |
3. faaeyul arfg® ulg da g o1 S+ fhar s gadi g1
4. gz 3Hi¥d IRER g |

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212310009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UT6 & TR 3% ¥ g5 BT a1 I B3 g2

1. 1T g8 3Andd fafae 3R Uidgiys U Y JAud g
1T TN SR YIS ] YA 9gd Do Al ¢
- HIYFS TS & BRI

4. ¢[[aH AR & BRI

Options :
1.1
2.2
3.3
4.4

2

L

Question Number : 48 Question Id : 34212310010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fob 3 Ie=al 4 Udeifd U U g & ifiuRd fdbar g2

1. Sad AT 3R Tl

2. Hhdd THd 3R Ug
3. had AUIR® ANt
4. IO, HTd, G, WoAHET, A 406, e O71f 96 Ugd 9Ul dd Jigd fafts dare-

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212310011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiRgd o 9 9 &1 94T g8 afvid s & o0 fvar 11 § o g U e RdheR,
iferad 3R fgeeR S el gRT UYd AU AT 412

| 9 g

2

TP TS

BPSIMRITS
4. PifdPRI TS

Options :
1.1
2.2
3.3
4.4

L¥S]

Question Number : 50 Question Id : 34212310012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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q1é o IfcRgd e -9 U9 g1 S drdl 99 dd 6

1. Ui 39t
IS I
3. GR& DI delr

f-2

4, TR Saar

Options :
1.1
2.2
3.3
4.4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

342123134
2

Online
Mandatory
92

92

200

0

1
342123396
Yes

Question Number : 51 Question Id : 34212310013 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

j6orLil6b QElIGLm&seley @M LIL(RILD HEV6EVLY 6T60T LicuemeoTLI LIMMI&S
GOILUHIWD Fms @eusEIWwwn
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4. UBIHOLLISS)

Options :
1.1
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